GRANT PARISH	PLANT ENTERPRISES	PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Non-irrigated (Total)		2,015.0	950.00	1,914,250	lbs.	\$921,903
Seed - Non-irrigated (Total)		2,015.0	1,520.00	3,062,800	lbs.	\$147,627
Cotton (Total)	10	2,015.0				\$1,069,530
FORESTRY						
Pulpwood						
Pine				89,358	cords	
Hardwood				21,509	cords	
Pulpwood (Total)				110,867		
Chip & Saw (Total)				32,375	cords	
Saw Timber						
Pine				19,228,662	board feet	
Hardwood				1,298,878	board feet	
Saw Timber (Total)				20,527,540		
Total Pulpwood, Chip & Saw,						\$22,250,548
Saw Timber FOB Mill						
Total Forestry Stumpage						\$11,580,198
(Total)						
Forestry (Total)						\$22,250,548
FRUITS						
Blueberries (Total)	6	9.0	1,075.00	9,675	lbs.	\$18,866
Mayhaws						
Native	20	120.0	50.00	6,000	lbs.	\$6,600
Orchard	20	65.0	775.00	50,375	lbs.	\$65,488
Mayhaws (Total)		185.0				\$72,088
Peaches (Total)	*	18.0	200.00	3,600	bu.	\$144,000
Fruits (Total)		212.0		ŕ		\$234,954
FEED GRAINS						
Corn (Total)	10	926.0	155.00	143,530	bu.	\$380,355
Grain Sorghum (Total)	*	250.0	101.00	25,250		\$118,322
Oats (Total)	*	568.0	54.00	30,672		\$54,289
GRANT PARISH				,		,

\$4,313

GRANT	PARISH
OIMALI	TAINIDII

Alligators (Wild) (Total)

## PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
Feed Grains (Total)		1,744.0				\$552,965
HAY FOR SALE						
Grass (Total)	38	520.0	1.50	780	tons	\$72,072
Hay for Sale (Total)		520.0				\$72,072
Home Gardens (Total)	2,500					\$500,000
PECANS						
Improved (Total)	25	270.0	750.00	202,500	lbs.	\$263,250
Native (Total)	15	450.0	600.00	270,000	lbs.	\$256,500
Pecans (Total)		720.0				\$519,750
Soybeans (Total)	10	6,548.0	38.00	248,824	bu.	\$1,457,113
VEGETABLES						
Mustard (Fresh) (Total)	*	4.0	600.00	2,400	doz. bunches	\$16,800
Okra (Fresh) (Total)	*	4.0	180.00	720	bu.	\$21,600
Snap Beans (Fresh) (Total)	*	3.0	70.00	210	bu. (30 lbs.)	\$6,300
Southern Peas (Fresh) (Total)	20	6.0	80.00	480	bu. (24 lbs.)	\$12,000
Squash (Fresh)						
Yellow Squash	*	2.0	150.00	300	bu. (45 lbs.)	\$6,750
Squash (Fresh) (Total)		2.0				\$6,750
Sweet Corn (Fresh) (Total)	*	10.0	600.00	6,000	doz. ears	\$21,000
Tomatoes (Field) (Total)	*	9.0	1,050.00	9,450	lugs (20 lbs.)	\$189,000
Turnips (Fresh) (Total)	*	5.0	250.00	1,250	doz. bunches	\$8,750
Watermelon (Total)	*	50.0	200.00	10,000	cwt.	\$80,000
Vegetables (Total)		93.0				\$362,200
Wheat (Total)	*	160.0	65.00	10,400	bu.	\$41,740
TOTAL ALL PLANT ENTERPR	RISES					\$27,060,873
	FISHER	IES & WILD	LIFE ENTERPRISES	PRODUCTION		
	Number of		Units of	Total	Units of	Gross Farm
Fisheries	Producers		Production	Production	Measure	Value

172 ft.

Į	4	T	Π	V.	Г	T		J	G	T	F	Δ	S	$\mathbf{F}'$	C
1		ı	IJ	·			יוו	N.	u	- 1	/ L >	$\mathcal{I}$	117	1 2	O

All Other Game (Total)	140	187,500 No. Acres	acre	\$1,312,500
		Leased		
Hunting Leases (Total)				\$1,312,500
Honey (Total)	*	440 No. Hives	29,500 lbs.	\$26,550
TOTAL ALL FISHERIES & WIL	DLIFE ENTERPRISES			\$1,343,363

	ANIN	<u> 1AL ENTERPRISES</u>	PRODUCTION			
	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
CATTLE & CALVES						
Steer Calves						
300-400 lbs.				1,180	head	\$586,584
400-500 lbs.				363	head	\$202,472
500-600 lbs.				180	head	\$110,197
600-700 lbs.				92	head	\$63,239
Steer Calves (Total)						\$962,492
Heifer Calves						
300-400 lbs.				1,180	head	\$520,917
400-500 lbs.				360	head	\$187,839
500-600 lbs.				190	head	\$109,840
600-700 lbs.				90	head	\$59,951
Heifer Calves (Total)						\$878,547
Yearling Cattle						
600-700 lbs.				500	head	\$324,838
700-800 lbs.				150	head	\$106,819
Yearling Cattle (Total)						\$431,656
Cow-Calf Pairs (Total)				215	pair	\$204,295
Cull Cows (Total)				600	head	\$226,950
Cull Bulls (Total)				25	head	\$21,139
Cattle & Calves (Total)	168	5,000	No. Cows			\$2,725,078
HORSES						
Brood Mares						
Race Horses	*	115	No. Brood Mares	78	head	\$624,000
Show Horses	26	104	No. Brood Mares	60	head	\$240,000
<b>GRANT PARISH</b>						

## **GRANT PARISH**

## ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
HORSES					
Recreation Horses	10	40 No. Brood Mares	25	head	\$37,500
Brood Mares (Total)					\$901,500
Stud Fees					
Race Horses		4 No. Stallions	80	mares bred	\$200,000
Show Horses		5 No. Stallions	28	mares bred	\$42,000
Recreation Horses		3 No. Stallions	12	mares bred	\$6,000
Stud Fees (Total)					\$248,000
Race Horses (Total)	*		22	head	\$264,000
Show Horses (Total)	55		210	head	\$1,050,000
Recreation Horses (Total)	150		500	head	\$750,000
Horses (Total)					\$3,213,500
RABBITS					
Fryers (Total)	7	1,680 No. Animals	6,720	lbs.	\$5,376
Does (Total)	7	1,680 No. Animals	6,720	lbs.	\$1,008
Rabbits (Total)					\$6,384
GOATS					
Show Goats (Total)			35	head	\$8,750
Slaughter Goats (Total)			430	head	\$53,750
Stocker Goats (Total)			110	head	\$10,450
Cull Goats (Total)			50	head	\$3,250
Goats (Total)	20	375 No. Does			\$76,200
SWINE					
Show Pigs (Total)			20	head	\$5,600
Feeder Pigs (Total)			400	head	\$12,000
Slaughter Hogs (Total)			175	head	\$21,039
Culls (Total)			15	head	\$2,400
Swine (Total)	6	40 No. Sows			\$41,039
TOTAL ALL ANIMAL ENTERP	PRISES				\$6,062,202

**GRANT PARISH** \$34,466,437